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B> S. Cnt. ﬂfé
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B> S. Cnt.
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9
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9
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Eb Hn. 1 F
D === = =
9
E>Hn. 2
5 == = T
9
By Bar. 1
B f =7 =
nf
9
Bb Bar. 2 f = =
L
e ¥ W o 2 = - - _
B>Tbn. 1 =
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Bs. Ton. = 2 = £
nf Y
9 4 4
B> Euph. 1 f
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S I e N At
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7
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’
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i
g
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E»>Cnt.
By S. Cnt.
B> S. Cnt.
B> S. Cnt.
B> S. Cnt.
BbR. Cnt.
B> Cnt. 2 <
9
B>Cnt. 3
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9 -
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K
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Eb Cnt.

By S. Cnt.

B> S. Cnt.

By S. Cnt.

By S. Cnt.
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BbCnt. 2

B>Cnt. 3

B Fl. Hn.

Eb S. Hn.
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By Bar. 1

Bb Bar. 2
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5
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By R. Cnt.
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o
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E»>Cnt.

By S. Cnt.

B> S. Cnt.

By S. Cnt.

By S. Cnt.

B> R. Cnt.

B> Cnt. 2

B>Cnt. 3

Bb Fl. Hn.
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5
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Doppio pitt lento (+ = 72)  siraight mute
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Doppio movimento (- = 144)
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4
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4
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S
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E»>Cnt.

fov

By S. Cnt.

By S. Cnt.
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R
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